Tre BEK Ceblection

Solve each multiplication problem to figure out how many eggs each ladybug has laid.

5x9=

8x8=

6Xx6=

Use division to solve each word problem.

1. Ladybug Mia and Ladybug Tia laid 78 eggs altogether. Both laid the same amount of eggs.
How many eggs did each ladybug lay?

2. Six ladybugs found 96 insects to eat for the week. How many insects can each ladybug take?
3. Divide 121 ladybugs into groups of 11. How many ladybugs are in each group?

Complete the fractions below.

- Black spots

-

———— Orange Spots

1

= White spots




